
SAP ABAP table JHVAPD1 {Generated Table for View}

JHVAPD1

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

GPAG [CHAR (10)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKGRP [CHAR (3)]

VKBUR [CHAR (4)]

AUART [CHAR (4)]

WAEHRG [CUKY (5)]

POS_ART [CHAR (2)]

PSTYV [CHAR (4)]

WERBK_TYP [CHAR (2)]

BRAN_PAM [CHAR (10)]

KAMPAGNE [CHAR (6)]

STORNOGRND [CHAR (3)]

MATNR [CHAR (18)]

INHK_KFM [CHAR (8)]

PRODH [CHAR (18)]

JGTGPNR

MANDT [CLNT (3)]

GPNR [CHAR (10)]

 JHVAPD1-GPAG = JGTGPNR-GPNR 

0..N

1

JHAK

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

 JHVAPD1-AVM_NR = JHAK-AVM_NR 

0..N

1

JJT179

MANDT [CLNT (3)]

PRODH [CHAR (18)]

 JHVAPD1-PRODH = JJT179-PRODH 

0..N

1

JJTDIEN

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 JHVAPD1-MATNR = JJTDIEN-MATNR 

0..N

1

JJTIKO

MANDT [CLNT (3)]

INHALTSKOM [CHAR (8)]

 JHVAPD1-INHK_KFM = JJTIKO-INHALTSKOM 

0..N

1

T000

MANDT [CLNT (3)]

 JHVAPD1-MANDT = T000-MANDT 

0..N

1

TBRC

MANDT [CLNT (3)]

BRACO [CHAR (10)]

 JHVAPD1-BRAN_PAM = TBRC-BRACO 
0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]
 JHVAPD1-WAEHRG = TCURC-WAERS 0..N

1

TJH17

MANDT [CLNT (3)]

AVMPOS_ART [CHAR (2)]
 JHVAPD1-POS_ART = TJH17-AVMPOS_ART 

0..N

1
TJH91

MANDT [CLNT (3)]

WKOMBI_TYP [CHAR (2)]

 JHVAPD1-WERBK_TYP = TJH91-WKOMBI_TYP 
0..N1

TJHAK

MANDT [CLNT (3)]

AUART [CHAR (4)]

 JHVAPD1-AUART = TJHAK-AUART 

0..N

1

TJHAP

MANDT [CLNT (3)]

PSTYV [CHAR (4)]

 JHVAPD1-PSTYV = TJHAP-PSTYV 

0..N

1

TJHSTOG

MANDT [CLNT (3)]

STORNOGRD [CHAR (3)]

 JHVAPD1-STORNOGRND = TJHSTOG-STORNOGRD 

0..N

1

TJHVBER

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

 JHVAPD1-SPART = TJHVBER-SPART 

0..N

1

 JHVAPD1-VKORG = TJHVBER-VKORG 

0..N

1

 JHVAPD1-VTWEG = TJHVBER-VTWEG 

0..N

1

TJJKAMP

MANDT [CLNT (3)]

KAMPAGNE [CHAR (6)]

 JHVAPD1-KAMPAGNE = TJJKAMP-KAMPAGNE 

0..N

1

TVBVK

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

VKGRP [CHAR (3)]

 JHVAPD1-VKGRP = TVBVK-VKGRP 

0..N

{0,1}

TVKBZ

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

VKBUR [CHAR (4)]

 JHVAPD1-VKBUR = TVKBZ-VKBUR 

0..N

{0,1}


